
=LPDB����

*UXSD�5R]NãDG������%�/����:��7\J������

�������������7\J����������

%LRORJLD�PROHNXODUQD�GU�%DQGXUVND�.DWDU]\QD�$%�
����� ���%�/����/

�������������7\J��������
��

)L]\ND�]�ELRIL]\Ną�GU
KDE��0DQGRZVND�(ZD�
SURI��8-'�$%��������%�
/����&

������
������
7\G]���

)L]\ND�]
ELRIL]\Ną�G
U�KDE�
0DQGRZVN
D�(ZD�
SURI��8-'�
$%�������
�%�/����:

�������������7\J��������
�

)L]\ND�]�ELRIL]\Ną�GU
KDE��0DQGRZVND�(ZD�
SURI��8-'�$%���������
%�/����:

SR
QL

HG
]L

Dã
HN

�������������7\J������������

(Q]\PRORJLD�GU�0DUF]DN�0DJGDOHQD�
$%���������%�/����/

ZJ�KDUP

�������������7\J������
�����

2EOLF]HQLD�Z
EURZDUQLFWZLH�L
ZLQLDUVWZLH�GU
2OV]HZVND�'RPLQLND�$%
����� ���%�/����:DU�

Z
WR

UH
N

�������������7\J������
�����

%LRORJLD�PROHNXODUQD�GU
%DQGXUVND�.DWDU]\QD�$�
���� ���%�/����:

�������������7\J������
�����

0LNURELRORJLD�GU
2OV]HZVND�'RPLQLND�$%
������7\J��������������
$%������7\J����������%�
/����:

�������������7\J����

3RGVWDZ\�IL]MRORJLL�GU
%HUGRZVND�$JQLHV]ND�$
����� ���%�/����:

�������������7\J������
�����

3RGVWDZ\�IL]MRORJLL�GU
%HUGRZVND�$JQLHV]ND�D
E������ ���%�/����/

�������������7\J�����

%LRFKHPLD�GU�+HUPDQ
%DUEDUD�$��������%�/�
���:

�������������7\J����

3RGVWDZ\�IL]MRORJLL�GU
%HUGRZVND�$JQLHV]ND�$
����� ���%�/����/

ĤU
RG

D

�������������7\J�����

/HNWRUDW\��üZ�����%�/����&�����&�/����&�����'�/����:�
���.�/����:

�������������7\J�����

)L]\ND�]�ELRIL]\Ną�GU�0DMJLHU�5HQDWD�$%��������%�
/����/

�������������7\J������

%LRFKHPLD�GU�5\FKWHU
3LRWU� $��������%�/���
:

F]
Z

DU
WH

N

�������������7\J�����������������

%LRFKHPLD�GU�5\FKWHU�3LRWU�$�������
�%�/����/

�������������7\J������
�����

(Q]\PRORJLD�GU�0DUF]DN
0DJGDOHQD�$%��������
%�/����:

ZJ�KDUP

�������������7\J��������
���������

0LNURELRORJLD�PJU
/HZDĔVND�0RQLND�$%�
����� ���%�/����/

�������������7\J���������

)L]\ND�]�ELRIL]\Ną�GU�0DMJLHU�5HQDWD�$%��������%�
/����/

SL
ĈW

HN
6

R

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

*UXSD�5R]NãDG������%�/����:��7\J������
1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


